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SN AR
M MEE FHSHEN
o9l DEFE ol (FUAMY SE5) (B9 ®R)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@i HRE2
oUnFe =2 2 24 2,400
20 FEHFI2S 22l 9,000 21,208 N 12,208
201 et 5,760 15,220 A9,460
01 AP 2t 2] H| 5,760 15,220 A9,460
OSIIEsE d2xa 1,200 * 200AICH 240
Oz =42 3,000& * 40AICH 120
O Hilx=x2 2,000,000 = 1AICH 2,000
OsX23 ttatXas8d =2
200,000& = 1AICH 200
OsX2 MHALR L FAHHAAMNS
270,000& = 10AMICH 2,700
OsXk222 HAEH S22 500
202 04 d| 3,240 5,988 N2,748
01 2Ll 3,240 5,988 AN2,748
OXZ 33AsE =H 800
OANZE MEHR O 1,000
Osia2 YA 485 1,440
ANISANF=EH Ax=E Sz HHet 232,922 353,447 A 120,525
802 BtEt2 DI E} 232,922 353,447 A 120,525
03 UH2E 232,922 353,447 A 120,525
O=281x AIGOIIIE YxE85=2 Bt 44 922
o= 1,323,0008 * 5AICH 6,615
SE=FS 2,364,600& = 3AICH 7,094
oY= 2,837,520 * 11AMICH 31,213
OEARH2X AMIGOIIE LFE2S2 Bttt 188,000
o= 20,000,000 * 8AICH 160,000
o235 16,000,000 = 1AICH 16,000
oY= 12,000,000 = 1AICH 12,000
DEZY FHOUH JIUXM(FHAY SHH) 9,974,008 11,333, 114 A 1,359, 106
J| 2,404,575
Al 7,569,433
ANSAUFE AIEZ2 FHH| 100,720 282,016 A 181,296
401 A& H L 20l 100,720 282,016 ~ 181,296
01 Al&H| 100,000 280,000 A 180,000
OANMIEUAH=8 AIDdS Hl
50,000,000& * 2JHCHX| 100,000
03 Al 201 Y| 720 2,016 AN 1,296
OANYA=CE AIESEH S0l
100,000,000 = 0.72/100 720
ol g1 8] 2,720,258 1,606,098 1,114,160
801 ol bl 2,720,258 1,606,098 1,114,160




FN: AR
M ABA FHSNEA
tel: TS FHAE JIBXIL(FEAMY SEIAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 ollBl8l 2,720,258 1,606,098 1,114,160
Ouuldl sl 2,720,258
SH2OIIE HHS A 7,153,030 9,445,000 22,291,970
J| 2,404,575
Al 4,748,455
311 Xt S0l A4 & 144,155 0 144,155
06 JIEHXH S 01 A& & 144,155 0 144,155
OZOIIHEMA=Z=ZCUFED| S XY S0l A&+
,805,160,000& * 3% 144,155
401 AIEHI L 20 7,008,875 9,445,000 A2,436,125
J| 2,404,575
Al 4,604,300
01 A& HI 6,991,875 8,418,000 A 1,426,125
O3 O0IIE MAFALS HI 6,991,875
J| 2,404,575
Al 4,587,300
03 Al 2 THHI 17,000 27,000 A 10,000
OStZO0HIE THAS ALY Al 20 17,000
HY2AZH (A=) 41,137 38,003 3,134
FAIH (=AY SE3lH) 41,137 38,003 3,134
ol A 41,137 38,003 3,134
101 @124 dl 41,137 38,003 3,134
03 RIAHAZ 2B+ 41,137 38,003 3,134
Ogiizeize 22X E4(2Y) 39,858
=lleg 38,880& * 298 250 19,440
o0z 19,440,000 = 4/12 6,480
cHXURSFII=E 38,8803 * 2Y% x 20 1,556
oA2A2RFE
7,290 * 2% * 20A12t + 128 3,500
oFF 38,8803 * 2% x 52« 4,044
S P Ea= 19,440,000¥ = 10/100 1,944
o XMLt 36,961,920% * 3.5/100 1,294
o HZF | 400,000& = 28 « 23| 1,600
Ot ER = 38,736,000& * 33/1,000 1,279




